Protein Synthesis 2


	Remember

· Ribosomes make proteins.

· They use the mRNA code to get the amino acids in the correct order.

· The code is a triplet code – 3 bases code for one amino acid.


In this activity, you are making a protein. See whether you can be the first to finish.

1 Read the first 3 bases of your mRNA code.     

AUG-UUC-AGU-AGA-GUC-CUG-GCC-UAA

2 Look up the triplet code on this RNA codes table to find out which amino acid it is the code for.
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Copy the letters which represents this amino acid into the diagram below.


4 Now read the next triplet and add the next bead to your string.

5 Continue until you have read the whole code and your ‘protein’ is complete.

6 Ask your teacher to check it.

To answer

7 How many different amino acids are in proteins?

8 How many different codes are there in the mRNA table of genetic codes?

9 Some amino acids have more than one code. Look at the table of mRNA codes to find the highest number of codes for any one amino acid. Name the amino acid.

10 How many different triplets are there in your mRNA sequence?

11 How many different amino acids were there in your protein?

12 Explain why these two numbers are different.

13 If a haemoglobin molecule is a sequence of 141 amino acids, how many mRNA bases are needed to code for it?

14 a
Use the table of RNA codes to work out 
the missing amino acid codes 
(1, 2 and 3) in the diagram. 

b
Use the table of RNA codes to work out 
the mRNA bases forming the triplets 
4 and 5 in the diagram. There 
may be more than one correct answer 
– you just give one correct alternative.

Optional

15 Real ribosomes join up amino acids to make protein at the rate of about 10 amino acids per second (= 0.1 seconds for each amino acid). 
Record how many seconds you took to do yours. 
Work out how many times faster the real ribosome works.

16 There are lots of ribosomes in the cytoplasm. Suggest how having lots of ribosomes can speed up making proteins.



